[A]  What would be the output of the following programs: 
(a)  main( ) 
{ 
int j ; 
while ( j <= 10 ) 
{ 
printf ( "\n%d", j ) ; 
j = j + 1 ; 
} 
} 
(b)  main( ) 
{ 
int i = 1 ; 
while ( i <= 10 ) ; 
{ 
printf ( "\n%d", i ) ;
i++ ; 
} 
} 
(c)  main( ) 
{ 
int j ; 
while ( j <= 10 ) 
{ 
printf ( "\n%d", j ) ; 
j = j + 1 ; 
} 
} 
(d)  main( ) 
{ 
int x = 1 ; 
while ( x == 1 ) 
{ 
x = x - 1 ; 
printf ( "\n%d", x ) ; 
} 
} 
(e)  main( ) 
{ 
int x = 1 ; 
while ( x == 1 ) 
x = x - 1 ; 
printf ( "\n%d", x ) ; 
} 
(f)  main( ) 
{ 
char x ;
while ( x = 0 ; x <= 255 ; x++ ) 
printf ( "\nAscii value %d Character %c", x, x ) ; 
} 
(g)  main( ) 
{ 
int x = 4, y, z ; 
y = --x ; 
z = x-- ; 
printf ( "\n%d %d %d", x, y, z ) ; 
} 
(h)  main( ) 
{ 
int x = 4, y = 3, z ; 
z = x-- -y ; 
printf ( "\n%d %d %d", x, y, z ) ; 
} 
(i)  main( ) 
{ 
while ( 'a' < 'b' ) 
printf ( "\nmalyalam is a palindrome" ) ; 
} 
(j)  main( ) 
{ 
int i = 10 ; 
while ( i = 20 ) 
printf ( "\nA computer buff!" ) ; 
} 
(k)  main( ) 
{ 
int i ; 
while ( i = 10 ) 
{
printf ( "\n%d", i ) ; 
i = i + 1 ; 
} 
} 
(l)  main( ) 
{ 
float x = 1.1 ; 
while ( x == 1.1 ) 
{ 
printf ( "\n%f", x ) ; 
x = x – 0.1 ; 
} 
} 
(m)  main( ) 
{ 
while ( '1' < '2' ) 
printf ( "\nIn while loop" ) ; 
} 
(n)  main( ) 
{ 
char x ; 
for ( x = 0 ; x <= 255 ; x++ ) 
printf ( "\nAscii value %d Character %c", x, x ) ; 
} 
(o)  main( ) 
{ 
int x = 4, y = 0, z ; 
while ( x >= 0 ) 
{ 
x-- ; 
y++ ; 
if ( x == y )
continue ; 
else 
printf ( “\n%d %d”, x, y ) ; 
} 
} 
(p)  main( ) 
{ 
int x = 4, y = 0, z ; 
while ( x >= 0 ) 
{ 
if ( x == y ) 
break ; 
else 
printf ( “\n%d %d”, x, y ) ; 
x-- ; 
y++ ; 
} 
}
(i)  Write a program to produce the following output: 
   1 
2     3 
        4       5       6 
7         8        9       10   
 (j)  Write a programto produce the following output: 
1
          1         1
1            2            1
         1         3              3           1
1  	 4           6            4           1
